November 12, 2019

Overall Grade Percentage

Student Participation Vs. Overall Grade

Student Ranking from greatest to least participation

oyl

30
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Test Score

Student Participation vs. Test Score

Student Ranking from greatest to least participation
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2.6 Rational Graphs

Objectives: (See objective sheet #1-16)
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X 1 £(xX)

1
f(x)== 1:!00l "omain (~80,0)(020)
X £ 00 Range (—00/0)\/(0/00>
Increasing None,

| Right End Beha@rhm i (x);o.
IMF®=0 X9
Lj_i-; sentercepts

. —— - y-intercepts
Vertical Asymptote(s): =0

Horizontal Asymptote:b_ O
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Look at the following Graphs f(x)=% and
f(x):i2 and compare. What is going on?
[f(x)=— J)=—3

X
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Rational w/even power  Equation:

Domain

Range

Increasing
Decreasing

Left End Behavior

Right End Behavior

x-intercepts
y-intercepts

Vertical Asymptote(s):
Horizontal Asymptote:
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X and Y Intercepts

Y intercepts, x =0

)= 3x-12 O”Z :,|2: r (0
f( ) x2_5x_6 6’0&6 //b. Zr ( I‘%
(0,2) |

X intercepts, y = 0 !
£(x)= 3x—12 ——.—_._&XIO\
( )_x2—5x—6 )(n(gf'b ‘
< - |2 -
1ot F 3 X1T 3XZ

. : o
YT S b (w)
0=3x-12
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Find the x and y intercepts of the following functions:

@ _6 -20-3

3x =5
f(x) d+2 fx)= x*=5x+6
D:x=2%">3
x-int: 9=( X-3) (X x-int:
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What will these functions look like?

| (x +2)
x+1) =571

\

\

X

f(x)=
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Holes and Vertical asymptotes

PR ) X4 3Yx-2)
CtD (R DNE)

x> VA X=2
++t| Y- |

Hole x=2
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‘F(X):Z>(’—5 Dommn '.(— /’)0(",‘%

X+ X_l'\_f\: (%/2,0)

) Q= 2 X3 \1nT- (0,-%)
T ) VA X=-|

O: 2x3 Holefd. n/A

3= 2)( 2_(21.3: _3
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Find the holes, vertical asymptotes, and

intercepts.
5 3
a. f(X)z(X -)l-(z) b. f(X):()?)—(S)
VASTE g
Hole(<): &~ inroayint: )

Xint: 0,0 Yinf: (00 Yint )
) - (x2-9)

c. £(x)= (Xi ) (X)_(XZ-Sx+6)1ﬂC

\//.\’2_ (o-‘\)

Hole( $) 5
s,

(x +2)x-2)
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Horizontal Asymptotes (End Behavior):
To find the Horizontal Asymptote (end behavior
model), compare the degrees of the

numerator and denominator.

Hhe decree IN NnuMm vs.Ju\om
3 Hhe deg

Bottom heavy: y=10
Equal: y = divide leading coefficients
Top heavy: divide equation - result is EBM
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Bottom heavy: y=0

(x +2)
x24+2x +1 \

T
X 10¢ S

IOO¢°°

f(x)=
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Equal: y = divide leading coefficients

2x)+ x -2
) ===5% (xu)(x-.-/zg

e

S

Q--h-
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Top heavy: divide equation - result i1s End
Behavior Model

=220 i X

@ M@ X *l ;;(;
X=3 Q’v"s’} £(N)=x4Z /—H 7%=
[ g (.Zs(-Hﬂ

. c l
9 (]
£ [
r'd

| | \/;7({2
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Horizontal Asymptotes
(End Behavior Models)
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Identify the holes, vertical asymptotes, x and y intercepts, end
behavior, and then make a sketch.

-3
-5 7 A
O=-3 ST

=

Q=33

PW\%‘ 20 00\ ,g’ AT

Holes: /d

VA: X= '
x int: ’e/
y int: ( 0/3\

HEB: \j go

=<3
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(x) = 3x-7
x=-2 Holes:
VA:
x int:
y int:

HEB:
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YA

3x-2 °

f(x)= ;
x -1 .

4

Holes: :
VA: '

=9 8 -7 6 -5 -4 -3 -2 1 2 3 4 5 6 7 8 9 "X

x int: N
y int: X
HEB: :
.

.g”
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x> -9

f(x)

Holes: -

VA: X - 3 __Q__
x int: ‘

y int:

HEB:

>

oo (a3)03)
x*=5x+6 /'U: a)(\(_q)

e L e
v

See ¢ @ oo o=

- e T ® o o,

]

- e e  —

B 7 6 5 4 3 2

& o Y b h AL K X

<

-

- ® ™® o o oom

3 45 6 7 8 9 °X
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Holes:

VA:

X int:
y int:
HEB:

>

- N W A o N w<

I

2

3

4 5 6 7 8 9 X

© & 4 b h b b H A

<

Domain:
Range:
Increasing:
Decreasing:

End Behavior:
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Holes:

VA:

x int:
y int:
HEB:

fx)=

x—1

(x+

- N W s D N ®w<

>

A

2)(x-2)

Domain:
Range:
Increasing:

Decreasing:

=9 -8

-7

b 5 4 3 2 -1

© & 4 d h A b H S

<

12395978 9 XERd Behavior:
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—(x+1)(x+2)
(x+3)(x+2)(x—1)°

Jx)=

YA
9
8
_ 7 Domain:
Holes: 6
‘ 5 Range:
VA: . g
3 H -
int : Increasing:
- t Decreasing:
y int: S99 -8 -7 65 -4 -3 -2 - 1 2 3 4 5 6 7 8 9 "X
HEB: End Behavior:

© & Y b & b b H 2

<
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